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- S - o5 S 16 siN*Xx
=[csce] ® s = ®
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SiNe
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Solve each of the following on the interval from [0, 27)

11) 2coszx—5cosx+3 =0

(Leosx + | YeosX =3 =0

Cosx=-1 cosx=3
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y= M 51 T I\
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Verify that each of the following is an identity

cos’ 9
15) —— s escsind = cse? g
sin“ @

Lot’n + | =cac?s
@.EaDo @

1+ cos(2a)
sin(2a)

17) =cota

2
| +1-2=10
- SINELCOSY .

= & - As5In*A
& Sinacost
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12) cos?x+4sinx+4=0 D
)-si* X +45inX+1 _

—5in*X +"}S.',nx d 2:0

Sin>X —H4sinX =21

. Sinx=5)=

(Sl(‘S,)\(n;:'f.l—\)é\-S”’""_Y::5/7 ﬁ

14) 2tanxsinx+tanx =0

tanx (2sinx ¥ 1)=0

tan X=0

16) ]_ + l_ =2sec’ x
I-sinx 1+sinx
[+sinX +1-51nX
(-5 +snX) «-‘\
P —
} —&Wn"K
- r
ey = 2secx v Q.E.D
Cos™X (™
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18) L*_io-—«—s(za)=cota ' \')
sin(2a) ‘
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